
1-10 90 80 70 60 50 40 30 20 10 0

Ex) 18 × 5 = (8 × 5) + ( 10 × 5 )
=

9040 + 50

1) 14 × 6 = (8 × 6) + ( 6 × 6 )
=

8448 + 36

2) 13 × 7 = (5 × 7) + ( 8 × 7 )
=

9135 + 56

3) 6 × 15 = (6 × 9) + ( 6 × 6 )
=

9054 + 36

4) 18 × 9 = (9 × 9) + ( 9 × 9 )
=

16281 + 81

5) 16 × 5 = (6 × 5) + ( 10 × 5 )
=

8030 + 50

6) 7 × 18 = (7 × 9) + ( 7 × 9 )
=

12663 + 63

7) 13 × 6 = (3 × 6) + ( 10 × 6 )
=

7818 + 60

8) 9 × 12 = (9 × 3) + ( 9 × 9 )
=

10827 + 81

9) 14 × 3 = (5 × 3) + ( 9 × 3 )
=

4215 + 27

10) 17 × 4 = (7 × 4) + ( 10 × 4 )
=

6828 + 40

Ex. 90

1. 84

2. 91

3. 90

4. 162

5. 80

6. 126

7. 78

8. 108

9. 42

10. 68

     

Utilisez la propriété distributive pour résoudre chaque problème.
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